
APPENDIX - G

LIST OF SPELLING MISTAKES/ERRATA IN STD.VI TEXTBOOK

CHAPTER PAGE INCORRECT CORRECT
1

n

4

D

6

1

~K

10

11

12

13

12

13

14

27

44

49

cooperative society
Postal Savings banks
Exceds (Difficult word)
40000-30000=10000
Ibrahimbhai bought 
onion -from Mahuva at 
Rs.200 per quintal 
out of this 750 kg 
of onion was spoiled.

<100 kg - 750 kg)
' =he did not -find it 
to her liking
Rs.300—Rs.255=Rs.45 

there is a loss o-f 
Rs.75.

requires
A sofa set workman 
bought an old sofa set
Slraj sold a shawl 
bought for Rs.90 in 
Kashmir at Rs.72

we get. grreater and 
greater numbers
5 < —3)

8X0XGX8XS in an 
abbreviated is 
written as
explicity non stent

Co-operative society
Postal Saving banks
More than (easy)
40,000-30,000=10,000
Ibrahimbhai bought 
50 (any number) 
quintal from Mahuva 
at Rs.200 per 
quintal out of this 
750 kg of onion was
spoiled......
(5000 kg - 750 kg)
she did not. like it

Rs.300—Rs.255=Rs.45 
there is a loss of 
Rs. 45.
required
An old sofa set

Siraj bought a 
shawl in Kashmir for 
Rs.90,, he sold it at 
Rs. 72
we get greater 
numbers
5 (-3) =2
5 3=2
8X8X8X8X8 in an 
abbreviated form 
written as
especially constant-



ICHAPTER PAGE INCORRECT CORREC r

9 69 Exercise 5 Enercise 8
8 : 73 when it is substituted 

the equation becomes..
when we substitute 
the equation becomes

10 88 on length of length
11 94 correxpending corresponding

12 108 write theeorrespond- 
ing angles of
PQR—1 ABC

write the correspon­
ding angles of
PQR <—> ABC

i


